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They argue regarding a damage which is not apparent

Overview

X7 explained our miwn that the (3w 127) Mn freed the slave and (after PWX1 127 is
Tanwn the 7av) the 72y (according to the p"n) writes a note of debt to the m? for his
value which exceeds the loan." However 3"2w1 maintains that the 29mw» (the mon)
writes the note (not the 72V) for the excess amount. The X773 explained that the p"n
maintains 1o 7AW XD 2% KXW P10 therefore the 2w is not liable, however
A"2w" maintains P1°7 7MY and therefore the 7 nwn is liable. Mo0In clarifies various
levels in 71221 11°RW P17.
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According to 21 who establishes the 71w» where the first master (the %) freed
him, it is definitely considered a 92°1 P57, so all (3"2w™ p"n) would agree that the

77nwn (and not the 72v) writes the 1°17 %Y 70w to the Mo» -
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However the =1mw of "1 29 (the m%n), which is effective only 333977, is
considered a 92° 1ORW P17,
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And it will be necessary to say that this 9% »Rw P17 (by freeing the slave) is

considered more 92" (and therefore more liable for payment) than those cases of
N1 PRY P17 in PRSI PP -
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For there in 7°pr17 P75 we rule that p157 792w X9 1221 1°RW P1o7, and here (by 72v)

If the loan was for 200 and the T2y is worth 300, the 72y writes a note that he owes the m> 100. See 5 13"7 >"w.

2 moon is explaining why the X713 did not also say according to the first answer of 27 that the 3"2w1 p"n are arguing
in 12%1 18w . All agree that 1720 9w 772avw o is 21, however the P"n maintains that since this is a 1R P17
1%, therefore the 7nwn is MWD and 2"2WY maintains 72°1 PRY 1977 1s 270.

? The 1Wwx1 127 is the real owner, so when he is 77mwn the 72y it is apparent to all that the 7% cannot collect from
his *P°nmaR (the 72v). Therefore if they would maintain 17217 72Yw po1a is 27, the (PR 127) 0wn would be 271,
since it is a 712°1 pri. We therefore need to say that they argue 1727 T2yw P12 where the p"n maintains that he is
75 (even though it is a 7271 p1°7, but since it is merely 1M2yw, not actually his, he is 79).

* The m%n has no ownership over the 72y and cannot free him; it is only 02w PN *1on, therefore it is not that
apparent that the m>n damaged the Mm% by freeing his slave (since 1771 7p°vn the slave is not freed). Therefore it is
considered a 12’1 1°Xw pri. See “Thinking it over’ # 1.

> The cases stated in the Xn>2 there are; JOIM ¥YNTAM Xnunh, meaning if on was either Xnvn someone’s NIV
(rendering it worthless), or he mixed 770 into P21 (making it worth less) or pouring someone’s wine 1"¥%.
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we follow 2''2w9 of our mwn that P17 79W; therefore we must conclude thar our case
is more of a 721 P1°17 than those cases.’

Summary
A 1w which is 0" 5 is considered a 1221 i (as opposed to a MNw which is

only 7112771). The 2177 is more 121 by the 72y than by 01 ¥R7m RnwA.

Thinking it over
1. Why is it that if the 277w is n"nn %n it is a 727 orn,’ but if it is only 712777 it is

considered a 12’1 KXW P1on?

2. MooIn states that in our case of 72y the 177 is more 12°1 than in the cases of
010 ¥yrTRm NDUDH.S How 1is it so?

3. . M1 states that in our case of 72¥, the P17 is more 12°1 than in the cases of
JoIm ynTnm Xnuni. Why then does n1901n need to explain that according to 27 it is
a 7271 P since it is N1 as opposed to 112777, perhaps 271 maintains that this P17
12°1 XY by 72V 1s considered more 13°1 and therefore the 0°»om will agree that he
is 27n.°

® See Thinking it over’ # 2.

7 See footnote # 4.

¥ See footnote # 6.

o See 77N WIDN XX # 59.
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